




•





•

•









•

•
•

•

•

•



•

•

•

•

•

•



1

2

5

6
1

6

5

6

1

2

1

6

𝐴 𝐵







1

5
+

1

15

3

10

𝜋

1

2
×

3

4
=

3

8

1

5
+

1

15
=
15

75
+

5

75
=
20

75
=

4

15

1

2
×
3

4

8

9
×
15

32

3

10
,
2

5
,
1

2
,
3

5
,

9

10

(𝑥
2
7)

3
8 𝑔−

1
3 × 𝑔

5
6 ℎ

3
4 ÷ ℎ−

1
2

𝑑
4
5 × 𝑑

2
3

𝑑
1
5





P 𝐴 ∪ 𝐵 =

𝐴 = 𝐴 ∩ 𝐵 =

𝑥

𝑥

1

5
4

5



𝑥 𝑦

56

110

𝑥 𝑦



(𝐴) (𝐴 ∩ 𝐵)

(𝐴 ∩ 𝐵′)

𝜀 =

= =

(𝐴) (𝐵) (𝐴′)

(𝐵′) (𝐴 ∪ 𝐵) 𝐴 ∩ 𝐵

𝐴 𝐵



≠

1

12



(A 𝐵) =

𝐴) × 𝐵)

(𝐴 𝐵 = (𝐴) 𝐵

=
1

6

=
1

2
×

1

6
=

1

12



1

2

5

6

1

6

5

6

=
2

5
×

3

5
=

6

25

=
2

5
×

3

5
+

3

5
×

2

5
=

6

25
+

6

25
=

12

25

= – = –

= + +



•

•

•

2

5
×

4

100
+

3

5
×

3

100
−

2

5
×

4

100

3

5
×

3

100

2

5

4

100

≈
1

3



𝑛

1

12

𝑛2 − 𝑛 − =
𝑛2 − 𝑛 − = 𝑛

11

20

10

20

9

20

9

20

11

20

8

20

11

20

10

19

9

20

9

20

11

20

8

19



𝜉

3

5

7

12

=
19

24

=
16

35

𝐴 𝐵𝜉

𝐴 𝐵 𝐴 𝐵


